openssI[TITIT]

(1T
[(TLinuxJopenssliITTicerTlcrt

openssl x509 -in server.cer -out server2.crt -inform DER
crt[Tlcer(DER[T))

openssl x509 -in server.crt -out server.cer -outform DER
Oertfkey[ITpfx[dca

openssl pkcsl2 -export -in server.crt -inkey server.key -out server.pfx -certfile ca.crt -password pass:123456
pfx[ITpem

openssl pkcs12 -in server.pfx -out server.pem -nodes -password pass:123456
pem[Ticrt

openssl x509 in server.pem -out server.crt
pem[Jkey

openssl rsa -in server.pem -out server.key
pfx[Tkrt[Jca

openssl pkcs12 -in server.pfx -nokeys -out server2.crt -nodes -password pass:123456
pfx[Tkey

openssl pkcs12 -in server.pfx -nocerts -out server2.key -nodes -password pass:123456

crt[I1p7b

openssl crl2pkecs7 -nocrl -certfile server.crt -out server.p7b -certfile ca.crt



pfx[Tjks

keytool -importkeystore -srckeystore server.pfx -destkeystore server.jks -srcstoretype PKCS12 -deststoretype jks -
jks[pfx

keytool -importkeystore -srckeystore server.jks -destkeystore server2.pfx -srcstoretype jks -deststoretype PKCS12

MBI ThashIIIIIT]

openssl pkey -in server.key -pubout -outform pem | sha256sum
openssl x509 -in server.crt -pubkey -noout -outform pem | sha256sum

openssl req -in server.csr -pubkey -noout -outform pem | sha256sum

Mcrt

openssl x509 -in server.crt -text -noout
(I11]

openssl verify server.crt
[Tkey

openssl rsa -in server.key -text -noout
[Tkey

openssl rsa -noout -text -check -in server.key
1] server.pfx

openssl pkcsl2 -info -in server.pfx
[1]server.jks

keytool -v -list -storetype jks -keystore server.jks -storepass 123456

[(TEcerTSITkrtTlapachenginx[1T]

111

cert[fcr certificate[T]



windows[[TTlcer pfx p7bcerfderTIIT)base64Tplain text)

apache[ngink[Jpem(Jcrt

java[ljiks[Jpfx

pem[Tl.crt[].key

[(ITTTBEGIN CERTIFICATE[JTTTIEND CERTIFICATE

[ITTTBEGIN RSA PRIVATE KEY[TTTEEND RSA PRIVATE KEY

[TITk
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